Ke
ALGEBRA j
3" TRIMESTER
EXAM REVIEW

Inequalities

1. Your class hopes to collect at least 400 cans of food for the annual food drive. There were 132
cans donated the first week and 163 more the second week. How many more cans of food must
be collected by the end of the third week for your class to meet or surpass your goal? Write and

solve an inequality. Show your work.

1324 103 +%X 24oD I inequality 1324 13 4 X 2 HoD
245 + X 2 Yoo
-29¢ -24¢ Define: Let X 2 Cans collected
| A e Brd weasil
X 2105 . Selvhion: R Z 199 ¢(ant

Systems of Linear Equations

1. Solve each system using substitution or elimination.
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2. Two groups of students order burritos and tacos at a local restaurant. One group orders 3
burritos and 4 tacos for a total of $11.33. The other group orders 9 burritos and 5 tacos for a
1

total of $23.56. & 41
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b. Write a system of equations to represent this scenario. aa
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Exponents

Simplify each expression. Use positive exponents. Y
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Simplify. Write each answer in standard form.
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16. A settling pond at a sewage treatment facility 16. "’I W 2- +15w
is rectangular. The length of the pond is 15 feet
more than 4 times its width w. What is the area
of the pond? IV
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17. Find the PERIMETER of this triangle. Leave answer in standard form.
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1. Give the equation of the axis of symmetry 1.
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For #s 6 — 8, identify the vertex of each graph. Tell whether it is a minimum or maximum.
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5. Give the needed information. If necessary, round answers to the nearest tenth.

y=-x>+2x+1

A. Choose one. Opens up or opens down Opens down
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F. Choose one. Vertex is a minimum or Vertex isa _pre X snurnn
maximum.
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Graph each function, (Use graph paper.)
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Solve using the Zero-Product property. (Factor)
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Solve using the quadratic formula. If the equation has no real solutions, write rno solution.

~ If necessary, round to the nearest tenth.
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15. A football is punted upward at a velocity of 45 ft/s from a starting height of 3 ft. Use the
equation 4 = —18¢* + 52¢ +3 to answer the following questions.

A. At what time will the ball reach its maximum height? 15A. LHY See,
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B. What will the maximum height be'?
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